

NAME: ADEWOLE ADEDAYO JOSHUA

DEPARTMENT: CIVIL ENGINEERING

MATRIC NUMBER: 19/ENG03/003

MATH 102 ASSIGNMENT

29] slope of

24]  $x^2 - 4y^2 - 12x + 24y - 55 = 0$   
the circle, we have  $(x-2)^2 - 4(y-3)^2 = 55$

ADENWOLE ADEDAIO JOSHUA CIVIL ENGINEERING 19/ENAD3/003

① Equation of circle  $= x^2 + y^2 - 5x - y + 4 = 0$   $x_1 = 1$   $y_1 = 0$

$$2x + 2y \frac{dy}{dx} - 5 - \frac{dy}{dx} = 0$$

$$(2y - 1) \frac{dy}{dx} = 5 - 2x$$

$$\frac{dy}{dx} = \frac{5 - 2x}{2y - 1} = m = \frac{5 - 2(1)}{2(0) - 1} = \frac{5 - 2}{0 - 1} = \frac{3}{-1} = -3$$

$$y - y_1 = m(x - x_1)$$

$$y - 0 = -3(x - 1)$$

$$\underline{y = -3x + 3}$$

② Equation of circle  $= x^2 + y^2 - 12x - 12y + 47 = 0$   $x_1 = 1$   $y_1 = 0$

$$2x + 2y \frac{dy}{dx} - 12 - 12 \frac{dy}{dx} = 0$$

$$(2y - 12) \frac{dy}{dx} = 12 - 2x$$

$$\frac{dy}{dx} = \frac{12 - 2x}{2y - 12} = m = \frac{12 - 2(1)}{2(0) - 12} = \frac{12 - 2}{0 - 12} = \frac{10}{-12} = \frac{5}{-6} = -\frac{5}{6}$$

$$y - y_1 = m(x - x_1)$$

$$\cancel{y - 0 = m(x - 1)} \quad y - 0 = -\frac{5}{6}(x - 1)$$

$$y = \frac{-5x}{6} + \frac{5}{6}$$

$$y = \frac{5 - 5x}{6}$$

$$6y = 5 - 5x$$

$$\underline{6y + 5x - 5 = 0}$$



$$2y \frac{dy}{dx} + 2y + 2 \frac{dy}{dx}$$

$$2 \frac{dy}{dx} = -2x - 2y$$

$$= \frac{-2x - 2y}{2y + 2} \quad \text{slope of tangent at } P(x, y)$$

$$2x^2 - 4y^2 - 12x + 24y - 55 = 0$$

$$\text{centre } (-3/2, 3)$$

different

$$8x^2 + 8y$$

$$(8y + 2)$$

$$\frac{dy}{dx} =$$

$$\frac{dy}{dx}$$

$$\textcircled{3} \text{ Equation of circle } = x^2 + y^2 - 8x + 14y + 40 = 0 \quad x_1 = 1 \quad y_1 = 0$$

$$2x + 2y \frac{dy}{dx} - 8 + 14 \frac{dy}{dx} = 0$$

$$(2y + 14) \frac{dy}{dx} = 8 - 2x$$

$$\frac{dy}{dx} = \frac{8 - 2x}{2y + 14} = \frac{2(4 - x)}{2(y + 7)} = m = \frac{4 - 1}{0 + 7} = \frac{3}{7}$$

$$y - y_1 = m(x - x_1)$$

$$y - 0 = \frac{3}{7}(x - 1)$$

$$y = \frac{3x}{7} - \frac{3}{7}$$

$$y = \frac{3x - 3}{7}$$

$$7y = 3x - 3$$

$$7y - 3x + 3 = 0$$